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public

class Taskl {

public static void main (String[] args) {

}

float[] score=new float[100];
Scanner input=new Scanner (System.in);
float sum=0; / /B InAn
int i;
for(i=0;i<score.length;i++) {
System.out.print ("IFHI A "+ (i+1)+"ZHFE RS : ") ;
score[i]=input.nextFloat();
if (score[i]==101) {
break;
}
sum+=score[i];
}
float average=sum/1i;
System.out.println ("F¥43 N : "+average);
int count=0; / /BT A A R B
for(int 3=0;3<i;j++){
if (scorel[jl>average) {
System.out.println("%"4— (3+1) + +Z MR SR "t+scorel[j]);

count++;

}
System.out.println ("M% YA "+count+" A" ;
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public class Task2 {
public static void main (String[] args) {
int[] answers={3,1,2,5,4,2,2,3,4,5,1,2,3,4,2,1,3,2,
4,2}
int[] frequency=new int[6];
for (int i=0; 1i<20; i++) {
frequency[answers[i]]++;
}
System.out.println ("/ME\t FAEE") ;
for (int i=1; i<6; i++) {

System.out.println (i+"\t"+frequency([i]);
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public class Task3 {

public static final int ROW=6; / /R EATE
public static void main (String[] args) f{

int a[][]=new int [ROW] [];

for (int i=0; i<ROW; i++) { / /BRI R A A4

ali]l=new int[i+1];
}
for (int i=0; i<ROW; i++) { /&I AT B
for (int §=0; j<=alil.length-1; j++) { //TEAT I Al 1 AR 2R3 5L
if (3==0 | i==3)
alil[jl=1; //EPMTE B R 1
else
//TRERMBEREIE LT TR S A LAITERZH
alil[jl=ali-1][j-1]1+ali-11[31;

}
for (int i=0; 1<ROW; i++) { / /G AT
for (int j=0; j<=al[i]l.length-1; j++)
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//TERT HER A6 R 51 4L

System.out.print(ali]l [JI1+" ")

System.out.println();

—

}
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